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gfagel weeT U ¥e-01
Model Question Paper SET-01

Far-12 (@M0S) | fawy- srawiRe i | @#- 1 der 30 e qUie-40
AT -

> gl weeT Irfeary § 1

It is mandatory to answer all the questions.
> weal T FT HEAT 40 ¥ |
The total number of questions is 40.
> Yl e & fav 1 3w AuiRa §
Each question carries 1 mark.
> UA® N & AT IR ey R v &1 5o ¥ v @d Rew &1 99 AfFw |
Each question is provided with 4 options. Choose the correct option.
> Ied 3T & AT FE 3iF A FI& ST |

There will be no negative marking for any wrong answer.
1. If 70k,100,AP % & @ k &T A1 &
If 70,k,100,0ne in AP the value of K is
(a)80 (b) 85 (c) 90 (d) 95
2. 3gHH 1050,-5,-10........ PT 1047 9§ BRI
The 10" term of sequence 10,5,0,-5,-10
(a) 30 (b) 35 (c)-35 (d) 25
3. 3fe fft AP &1 pdl U 9 T 4T g p & O SHST rai U 8
If p™ term is g and g™ term p of an A.P then its r™" term is
(a) p+g+r (b) p-g-r (c) p+q-r (d) p-g+r
4. R A 1,V3,3.....n.. BT P T TS 81 BT
Which term of the A.P 1,\/3,3 ........ will be 81 term
(a)9™ (b) 8™ (c) 10™ (d) 11™"
5. af & A.P ¥Tn = 3n + 53 59 AP &I Ug=R BN |
If an A.P if Tn = 3n + 5 then the common difference will be

(a)1 (b) 2 (c)3 ()4
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7.

8

10.

11.

12.

13.

Find the 8" term of the progression 1,V3,3
(@ V3 (b)27 (c) 273 (d)9
x o 5w A & fog 9= x — 2, x, x + 3 ol &E # B
For what value of x the number x — 2, x,x + 3 arein G.P
(a)6 (b) 10 (c) 16 (d) 12
afkab,c,d GPHFE A (a-b)? (b-c)?, (c-d)*F 2
If a,b,c,d are in G.P, then (a-b)>?, (b-c)?, (c-d)?is:

(a)A.P (b) G.P (c)H.P

(d) None of these (377 ¥ @1g El)

a aAT b FT UK AT B |

Geometric mean of a and b is

(a) == (b)ab?

(c) \/(E (d) none of these

Sl 2,8,32 HT TS U UGT &I ANT B

The sum of first five terms of the series 2,8,32,..... is
(a) 682 (b)748

(c)996 (d)1024

afg "p, =360 n & AF APV

If "p,=360, then find the value of n.

(a)16 (b) 6

(c)8 (d)10

2,3,4,5,6,0 3idi | 400 3R 1000 & 9 ¥ fHa @G 99 FHedl B |

How many number between 400 and 1000 can be made with the digit 2,3,4,5,6
and 0

(a)50 (b)60
(c)70 (d)80
30 =T AT B ISR TP bl g9 & auid Hh1fery |

Find the number of ways in which 30 different pearls can be arranged to form a
necklace.
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14.

15.

16.

17.

18.

19.

20.

29 30
(a) ? (b)?

(c)300 (d) =
X "c30="c4 N BT |

If "c30="c4, then n will be

(a) 30 (b) 32
(c) 34 (d)36

"p,=720 e "¢, =120 T r BN |
If "p,=720 and "c, =120 then r will be

(a)3 (b) 4
()5 (d)6
4! &1 |99 B |

Value of 4!is

(a)6x8x4x3%x2x1 (b)ax3x2x1

(c)a+3+2+1 (d) none of these

3 Ffdaal & 6 T o1 P TRId Sdid b Afad Bl foad W 99 e 9ad B :

The number of wags in which 6 prize can be given to 3 persons, if a person may
get any number of prize is:

(a)6® (b)3°
(c)6ps (d)6cs
5 RIS T & SR a1 B ol W&AT , W& TAF U D 4 [QAadeq T

The total number of answering 5 objectives type questions each question having
4 choices is:

(a)256 (b)512
(c)1024 (d)4096

9 3
12 Ammsﬁml

The value will be of [192 Z]
(a)2 (b)3
(c)4 (d)o

3 B9 & IRMG & TR & TH QA |
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21.

22.

23.

24.

25.

26.

One method of expanding determinant of order 3 is

(a) == @ faf¥ (sarus method)
(b)s<t fafr (Bayes method)

(c) dx@war faf (pascal method)
(d)s7# & @iz €1 (None of these)

IfE IRPE B T ™ T 9 8 96T 99 2|

If two coloums of determinants are identical then its value is

(@)1 (b)a
(c) 2 (d)o
[ [y Z] a X,y,z SN |
1 21 z .
If [x 3]—[5 3] then x,y,z will be
(a)5,1,2 (b)2,1,7
(c)5,6,7 (d)0,0,0
1 3
e A= [2 4] 3T IRad
Transpose of matrix A is
1 2 4 1
@, , (b), 4
3 2
(c)4 4 (d) none of these
2
afx A= [ e 9] f 5A8rT|
2
If A= [ e 9] then 5A will be.
15 20 30 20 30 40
@35 40 a5 (b) [40 50 60]
10 15 25
(c) [6 8 9] (d) [30 40 49]
ufd sy # ufdat o wem Bl B
In a row matrix, the number of row is:
(a)1 (b) 2
(c)3 (d) none of these
-1 0 2
aﬁ-:A-[O 1], q9 A° &1 711 BT |
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27.

28.

29.

30.

31.

32.

If A=[_O1 (1)], then the value of A is

@ 1 e[ 1]

@7 o @[l 2]

5 5[ alm=e

[Z :‘[_21 _g]isequalto

@ [; g (b)10

(c) 4 (d) [g ;]
4 7

m%A=3 é]a%nB=[ ]A+Bmm:fsﬁvm

5 2

If A=[3 2] B=[‘5l Z] the value of A+B is
(@) [;g 172] (b) [172 g]
ol 31 @l g

afe A={1,2{3,4},5} a1 fr=iferaa & @19 &1 98 2|
If A={1,2{3,4},5} then which of the following is correct.

(@) 1€4 (b)ae A

) 54 (d){1,2} € A

frforaa # Raa g 319 &1 8|

Which is null set in the following.

(@) o (b) {0}

(c) {0} (d) @

s A={a,b} @ fferaa # a9 A @1 ST T8 7|
(a) {0} (b){a}

{c} {b} (d)?

Ifd n(A)=10, n(B)=7 3R n(AUB)=15 & @ fa=feraa & &9 n(ANB) &1 A1 g1
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33.

34.

35.

36.

37.

38.

If n(A)=10, n(B)=7 and n(AUB)=15 then which of the following is the value of n
(ANB)

(a)3 (b)2
(c)o (d)17

26 Afyal & WE 3 8 @fad s 7 Nax I G & 3R 16 fam o 9 7| fraw =faa
A T NHR Hae Hror 9T T

In a group of 26 persons, 8 persons take tea instead of coffee and 16 persons
take tea. How many persons take only coffee, not taking tea.

(a)10 (b)20

(c) 15 (d)12

THog & WA 9§ 18,24 3R 30 BT #°H° 8N |

H.C.F of 18,24 and 30 by using set will be

(a)2 (b)3

(c)6 (d)8

a9 1,2,3,4,5 % R Raa Sy =l Y G ¥

The number of non empty sub sets of the set 1,2,3,4 is
(a)14 (b)15

(c)16 (d)18

Iafe A={a,b,c,d}, B={b,d,e,f}af A N B &7 4 8rM|

If A= {a,b,c,d}, B= {b,d,e,f} then the value of A N B will be
(a) {a,b,c,d,e,f} (b){b,d}

(cH{d,e,f} (d)}{c,d,e}

SUNDAY 35 ¥ Uoh R ¥ qT 3eR dIx I fhd- I8 97 O 9hd ¢ |

How many words can be formed with the letters of the word SUNDAY taken two
at a time.

()32 (b)35

(C)20 (d)30

I a,a+1,a+3 GPH B a a &1 79 BN |
Ifa,a+ 1,a+ 3 arein GP then the value of a

(a)2 (b)1
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39.

40.

(c)a (d)none

79 a¥ ¥ fof a7 @ UDAS B T B B Ao § I UREAT 600 HIS AT } o o A
fhe B ©

On a new year day every student of a class sends a card to every other students.
The postman delivers 600 cards. How many students are there in the class.

()50 (b)25

(c)15 (d) none of these

TP UIRR H! BT IS 42 | 39D Yo 5 URT P OHGA & |
The 3" term in a G.P is 4. The product of first 5 terms is
(a)256 (b)2048

(c)512 (d)1024
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